» Case(b) R >R,

V. (\ /B Z| Z, =R +jX,

X : matching reactance =¥
B : matching susceptance = F:, -0
et v
R‘ + n
Again, we want to find X and B
Ya‘n = IB + 1 e '1'
(R, + jX, )+ jX R, When the impedances are matched,
the imaginary part of the input
Real part: BR,( X + XL ) ) RL admittance looking into the matching

network is equal to zero.

Imaginary part: (X + X,)-BR.R =0

Use resonator concept:
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X+ X,

Imaginary part: (X + X,)-BR,R, =0 B =Q =8BR,=Q,=Q
L
Real part: BR(X+X,)=R.-R,
R
w) Q°R =R, -R, Q=+ /_3-1
R
R
Choose Q=QS=O,=+J—S—1
RL When Q is chosen, X and B are also
decided.

X=RQ-X, =R, ’iq - X, (>0, inductance)
R, (<0, capacitance)

Series-to-Parallel transformation

JX, —ww—o aF% Z =R+ X,
| &
A R
sz_ﬂ z,- p-’xp
jx xp HP+J'XP
X. R
agzap:{;-:f:?ﬂ
e R (1+Q%)=R,
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